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HHE | F# HE | F&
b8 475 19,481 HER 84 2,325
xR 109 2,668 IR ABAT 144 5,351
=5FE 87 1,998 KB AT 688 26,820
=R 131 3,681 EER 373 14,125
FEE 75 1,845 Z=HRE 70 2,509
WLz R 61 1,390 I E 116 2,923
=EE 112 3,041 EmWE 51 1,812
X E 210 5,297 EEE 51 1,781
EARE 147 4,465 LI 119 3,448
HEE 167 5111 LEE 226 7,315
BER 385 13,969 WAE 139 3,389
TEE 311 11,024 HER 81 2,303
B AR 353 14,416 ]I 78 2,499
HE)|E 332 13,042 TIEE 161 4,311
FiaE 105 2,999 =R 34 1,022
EWE 86 2,241 1 [ & 220 8,942
allE 54 1,751 EEE 22 571
BHE 53 1,564 RIFE 125 3,079
e 80 1,704 RERIE 114 3,071
REFE 116 3,373 R E 65 2,166
I B 12 110 3,033 = IgIE 29 1,073
el 155 5114 BEREER 95 2,467
ZFHE 285 9,986 Pl b 74 2,469
=58 202 5953 =11 7,360 | 244,917




